# T RR1008 5 E 8L P48 £ £33 A

S 43k 044 FHE R 0 218

; PSS M LA R 5| 100
8| MHES % R RAEFAAM B f | 4%
MEAIMEBERBIEERAES - H2H F1H

— SR - S -

l.Let f,g:®—>® be discontinuous at x=0. Which of the following functions

1s discontinuous at x=0? (A) f+g (B)2f (O f.¢

2.If flay=2, f(@=1 and f"(a)=3
then Ly@= W)-2 ®2 ©-1 @ml.
o (@= M-3 BT (O- D)

f V412 dr
3.lim=2—— = (Ao (B)1 (©)2 (D)3.
x—0 X

4.1f ¢>0 and g>0 then 1im(ln’/§)a= (A)o (B)% (O)1

X—>0 X

5.Which of the following statements 1s wrong?

W [ e ®) H‘x—q
X’ +

6. [ [ wiaay= (ML BE (OL Do.
[ lraa= w2 @2 ©L 0o

7. Which of the following series 1s divergent?

(D) 72

(D)oo .

dr=2 (O [i-¥de="" (D) [sin’xdr=0.

<A>Z 2nt CL % (D) Lsin .
n=1 n=1 n

(B)
1NR +4n’ +2n Z

8.Let g, >0 for all neN and 5éan be a convergent series. Which of the

n=l

following series 1s possibly divergent?

W¥e BYE OFfa ;FIe.
n=1 n=1 n n=1 n=tl N

© (=1)" (x +3)"

9.The radius of convergence for 25( D > 18
= n

(A)0 (B)% (©)2 (D)oo.

10.If f(x)=tan'x then £ )= (A)o (B)1 (C)IOO'

1 |
(D) 100t
201!
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1. Suppose that | f(x)|gx|* for all xe%n, where g>1.
a)Find £(0).

b)Prove that s 1s continuous at x=0.
c)Prove that s is differentiable at x=0.

2. Let f(x)=3x+cosx for xe®.

a)Prove that s is 1-1 on ®. b)Find ('Y and (f)).

3. Evaluate the following integrals.

a) Exe"‘zdx . b) .[sec3x dx.

4. Let fx)=01+x)*—(1+ax),x>0 and ae(0,1).
a) Prove that s 1s deceasing on [0,) .

b) Prove that (1+x)* <(I+ax) for all x>o0.(Hint:by a)

c) Prove that {a4uly} is increasing.(Hint:by b)
n



